gbgbgoootobogobnobgogbobobgoooogo

gogo ooood o

g o 0
gogogod

gooboguobooobbgoobogoan
goood

gupoogono

gobobbgoobtoboobboobboubboobobob
goobobooobboobobng 220000 32300JR0O000
gobobbogoboobobooooboobbn
b4/ 70bogogogouobooassguogonognod
obbooooboobbooobb 309buonb 17obO
obbooobobggb 3dbggoodesgbboooonod
gogobodoboboboooogo
gbgbogudbobobgbouoboubouounag
gobboodobooboboooboboobboooooan
gogobobgbobobooouobooud
guopbobobobooboognb ouboobuooboob
goood
gbogbgoboobobogbobubuooooboaod
gogo
gubguobgobbobooboobobooboobn
0o

goon
goon

gobooobobboobooboboobboobboobo
goooogdano

goboobbobboubooboboobobooobboobn
goooood

gobbgoobgobboobboobbon

oboboooobooobooobon
g o 57,4620 00

gobboooboobooobn
0 0 15,154000

oo0o O 57,462 / 15,154 g 3.79




god

doddddfoooooooonodd 000000000000 0sS000000000000000000000O0O00O0
O00o00D0D00o0o0oooooogoog
O O 0O 0o0oO0ooOooQ0 ooooo ooo0oo0oOoQ0 oooo
it to (Oooooo) ook oo b d noboood 0O0O0DO0OaGO 1ooooag OO00OO0aGO Hobod (0oon)
000 |(ooo 00000000000 |0000004800 O0O0000D0O00 [(0oooooon) 00000000 |00000000 |oooooo 0o0o0oo
an 0000000 |goooo0oO000oO00n0 |00 0 [0osssmOH32 |(DO00D0OO00O0O0 H3.9 DO 00O 0O0O340 O0o00oOoooono|000000odl |goooon gooooo
00000 |gpopoooooOOoo|o O 0 OO03,200m oooooooooan 0 0 650 0(8/0)00 00 ooooooono ooooon
oo0Qg |(0ooo) 0000 000 oosson/s (0000000000 - ooooooono oo0ooooo
Jooooop-is (200 (Coooo) oooooon ooooon
000000000 | 0000000000000 000000000 Dooooa
b o boo 0000000000 |[oooooooooooooo (BBOHOUEOU Y gopooooo oooooo
Dooooobdbigg oooooooooooooo| HOO00D000) pooooooo Dooooa
00 30 00 3,000m0 0 0000000000000 00000000 | oooooooo ooooon
O 10 00 2000 0000000 ooon 0oooooon 0ooooog ooooon
0O 1000 B=28,9940 00 |000O0O0O0OOO ooooon
0000 800m ooooo oooooooo oooooo
H260 O OO  90% £=10,969 0 0 [ oooon
(oooooo) 000 (B/C)
(0DD0O0002.6%) > 64
ooo |(ooo 00000000000 |00000055.000 O00O000DO00 ((OOOO0O000) OO00O0OO0O0OO0OO0 |[00000000 (000000 |00
O000O0O00 (00000000000 |gQg g oOsssoRry |000000000OD0 (H3.900OO0O O O340 OOoO00o0Ooo|0000oo0o0oo|ooooo oooao
0o 00(@O000 |(000000000000(g g g oo a3,200m oooooooo 0 0 650 0(8/C)0 000 oooooooo ooooog
oooo) oooao 000 00-550m7s oo0oo0ooooo 00 oooooooo oooooo
Qoooooo-is |2000000000((C000D) 0ooooooon ooooon
. 00 0000000000000 0ooooooon 0ooon
b o ooo 00 2000 noooooooooooon |BOHEBHOOUDY popopoooo oooooo
oooooobodl g 1000 opoooooooooooo| U0000000 ppoooooao 0ooooon
00 30 RIDODOO 89.6% (0000 DOOOOOOOOD 00000000 | oo oooooo
0O 10 (00o0o0on) 0000000 ooon 0000000 |[0D0000000n oooooo
(0DO0O0002.2%) B=57,462 000 0 000000000 O O ooooono
00000 gogodggogo gdd
C=15,154 00 0 noooooo
00O (B/C)
3.79
000 oo0o00oo0o0o0o0 _ 0oooDooon
DoooooDooo |, i 00000000
Ooo0o0o00o0ooo . oooooooa
0000000000 | e f///F ooOooooo
Oo0DoDooooogoon ’“f 7 Oo0ooooon
ooooooooo s o 7 DDO00D00BDO
* o /// ODO0OooO B/C
0Do0o000O00On 0% — O00o00n
EE T ELE S S ) I
BT A L= 81T ‘jj ,,,,,,,,, -
FOFEMMOIER, B T P T e L T LT T T LT
. |




